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Math

Solving Three-Number Addition (i#1)

Addition Help these people do their jobs by answering the questions. See the example.

The farmer has four tomatoes, three carrots, and one cabbage. How many vegetables does he have?

4+3+1=8

Alex is mowing his neighbors’ lawns this week. There are two houses on Ham street, five houses
on Bacon street, and three houses on Egg street. How many lawns does Alex need to mow?

Mitch delivered seven letters on Monday, two letters on Tuesday, three letters on Wednesday.
How many letters did he deliver?

s

Nancy sold five cupcakes in the morning, three at noon, and eight in the evening.

How many cupcakes did she sell today? ﬂ

Tom moved four boxes to Mr. Big’s house, six boxes to Ms. Joy’s house, and three boxes
to Mr. Smith’s. How many boxes did he move? A

Y
(4
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